תרגיל 12
Problem 1:
It has been suggested that exercise increases the level of growth hormone. Two blood samples were taken from each of 6 different subjects. The first sample (called Control below) was taken following a day where no strenuous exercise was performed. The other sample (called Postexercise below) was taken following a day where the subject had engaged in strenuous exercise. The level of growth hormone (mg/ml) was determined for each sample. Use the data below to test the suggestion. Notice there is a substantial outlier in the Postexercise group. Therefore, assume that the relevant distributions are not normal.

Subject  Control  Postexercise
   1       8.5        13.6
   2      12.6        14.7
   3      21.6        42.8
   4      19.4        20.0
   5      14.7        19.2
   6      13.6        17.3

Problem 3:
A recent study was done on cooperative hunting behavior in lions. Lionesses cooperate by approaching prey in groups. (Male lions don't help much - they lie around and wait for the females to bring back food - they really do think they're the "King of the Jungle".) As a group of lionesses approach potential prey, they tend to form a loose line configuration. The researchers could identify two positions along the line: (1) Center - basically the middle of the line; or (2) Wing - near the end of the line. The researchers also determined the role of each lioness in the capture attempt. The two possible roles were (1) Initiate Chase - be the first one to charge the prey; or (2) Participate in Chase - join the chase after it had started. Of 76 lionesses in the Center position, 48 were classified as Participate in Chase, the rest as Initiate Chase. Of 107 lionesses in the Wing position, 66 were classified as Initiate Chase. Use these data to test if the Role of the lioness is independent of the position along the line. Assume relevant distributions are nonnormal.

Problem 4:

Two randomly selected samples of Nipissing University students were asked to read and then evaluate a short story written by a new author. One sample was told that the author was from Quebec, while the second sample was told the author was from Ontario. The following evaluations were obtained . . . a higher score indicating a more favorable evaluation. Assume this is ordinal level data and apply the median test to determine whether there is significant difference between the medians of these groups. Were student evaluations of the short story influenced by the cultural background of its author.

	SAMPLE 1
	SAMPLE 2

	6
	6

	5
	8

	1
	8

	1
	2

	3
	5

	4
	6

	3
	3

	6
	8

	5
	6

	5
	8

	1
	2

	3
	2

	5
	6

	6
	8

	6
	4

	3
	3


Problem 5:

A large manufacturing firm wants to determine  whether  a relationship exists between the number of works-hours an employee misses per year and the employee’s annual wages ( in thousands of dollars ). A sample  of 15 employees produced the data  shown in Table 
	EMPLOYEES 
	   HOUR 
	  WAGES 

	1 
	49 
	15.8 

	2 
	36 
	17.5 

	3 
	127 
	11.3 

	4 
	91 
	13.2 

	5 
	72 
	13.0 

	6 
	34 
	14.5 

	7 
	155 
	11.8 

	8 
	11 
	20.2 

	9 
	191 
	10.8 

	10 
	6 
	18.8 

	11 
	63 
	13.8 

	12 
	79 
	12.7 

	13 
	43 
	15.1 

	14 
	57 
	24.2 

	15 
	82 
	13.9 














